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A mixture contains milk and water in the ratio of 5 : 3,

respectively. On adding 7 litres of water, the ratio of milk to water
becomes 1 : 2. Find the quantity of milk in the mixture.
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A miﬁ e of milk and water measures 60 litres. It contains 10%

water. How’much water should be ddit,}‘é/iﬁét the water
may be 25%?
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Salaries of Rida and Riya are in the ratio of 3 : 5, respevely. If
the salary of each one is increased by Rs.5,000, then the new
ratio becomes 5 : 7. What is Riya’s present salary?
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Rohan scored twice as many marks in English as he di n
Science. His total marks in English, Science and Mathematics
are 126. If the ratio of his marks in English and Mathematics is 2

: 3, his marks in English are:
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Two numbers are in the ratio of 51 : 70. If 66 be added to
each, the ratio becomes 53 : 72. Find the difference
between numbers.
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Two numbers are inthe ratioof 5: 7. If 6 be addeto
each, the ratio becomes 3 : 4. Find the numbers.
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Which smallest positive number should, be subtracted
from each of 9 and 13 so that 18 j§th %proportlon to

them?
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The cost of a piece of diamond varies with the square of its

weight. A diamond of Rs.6,08 is\cut into 3 pieces whose
weights are in the ratio 3: 2 : |¥. ‘F{htPﬁi loss involved in the,

cutting.
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The number of books on Mathematics, Physics and Chemistry in
a University library is in the ratio 8 : 5 : 9. There is a proposal to
increase these books by 10%, 5% and 5% respectively. What will
be the ratio of the number of books after increment?
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Ca nsthareapropertyworth Rs.93,100. If A : : 2,
=3:4and C: D =5:6, then find the share of C.
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The mean proportion of 169 and 144 is:
169 ST 144 =7 MET AT & @

(a) 156 (b) 147 (c) 126 (d) 165
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